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107 H
E¥EDEZ 100 HE T 5,
ZERTHORBEKBED 100 H & D5 N DFEH X
(+38)+(+1)+(=1)+(+2)+(+4)+0+(—6)+(+16)} ~8=+6.75
Lo T, 8EHDEKHEDFTIX 100+6.75=106.75
INBE 1AL ZYEHAL T 107 H
197 1@
200 & DB DD EEHE
(—18)+(+12)+(+4)+(—12)+(—6)+(+2)=—18
- T, 6 HEIDOFEY EIFEZHOEF I
200 x 6+ (—18)=1182 (i)
UZM->T, 1 HDO5RY EIFEROFSIL
1182+6=197 (&)
22 43
6 ADBEZRHD 20 70 & DB AWK, JEIZ
+3, +8, —3, —2, +9, —3 (BfLlX %)
£27TC, 2002 DENVDEEHE
(+3)+(+8)+(—=3)+(—2)+(+9)+(—3)=+12
UZ=Mo T, &fE 6 AD@EEREDEFHE
20X 6+ (+12)=132 (43)
X oT, £fE6 ADBEEMDOESIE
132+-6=22 (%)
71 =
70 HEDLODEEE
(+6)+(+10)+(—=5)+(—8)+(+2)=+5
Lo T, X
70+ (+5)+5=71 (M)



